Reliability of a Bearing

We have already discussed in the previous article
that the rating life is the life that 90 per cent of a
group of identical bearings will complete or
exceed before the first evidence of fatigue
develops. The reliability (R) is defined as the ratio
of the number of bearings which have successfully
completed L million revolutions to the total
number of bearings under test. Sometimes, it
becomes necessary to select a bearing having a
reliability of more than 90%. According to
Wiebull, the relation between the bearing life
and the reliability is given as
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where L 15 the life of the bearing corresponding to the deswred reliability R and o and b are constants
whose values are

a=084, and b=117
If Ly 15 the Iife of a bearing corresponding fo a reliability of 90% (i.e. Ryp). then
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Dividing equation (7) by equation (i7), we have
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This expression 15 used for selecting the bearing when the rehability 15 other than 90%.




